= 1 == =i vz = s
ExHAEYEHEEOXRBEFHELE RN

OEFENI2AXRETDHEEIE

ER254 |26 5 | FE 274 | F 28 5 | E 294
B 2,455 2,380 2,342 2,164 2144
& 29 24 29 19 21
BEEH 2,991 2,993 2,901 2,666 2.684
SHEEEN 184 185 180 172 178
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SRk 265 | T 527 2 | F A28 4 | T 29 2 | SE R 304
G 2,380 2,342 2164 2.144 2.000
SER 24 29 19 21 21
BEEK 2,993 2,901 2,666 2.684 2514
LEBEH 185 180 172 185 | — (%)
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Rk 26 5 | T 5274 | T 5284 | 5294 | < B304
128 216 264 195 205 190
AR 3 6 2 2 3
B8EEH 270 322 250 243 230
SHLEEBEEM 19 19 18 23] — ()
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